1.

2+ axy +3%) (= ay +y?)
X2+ 2xy + y?) (2% - 2xy +)?)
3xy +°)
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(x% + 3xy +y*) (2 -

(4% + dxy + %) (2% = 4y +5?)
( _

(
(
(
(

© e e e e

x? 4+ 5xy +y?)(x? - 5xy +y?)
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(F4]) = x* + 2x%y? + y* - 25x2y?
= (¥ +5°)* - (5xy)?
= (x® + % 4 5xy) (x* + y* = 5xy)
= (x* + 5xy + y*) (x* = 5xy + %)
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© ChH -2 @ H) be ® () (b-c)

S

2(b-c)+b*(c—a)+c*(a-b)
(b - c)a® + b%c — ab® + c*a — bc?
( —

b-c)a®~| (b°=c?) la+| bc |b-c)
|(b—c)|{a2—|(b+c)|a+ be }

=(b-c)a-b)(a-c)




3. x+y+2z=12x-y+z=>55 WEst= BE AS x,y,z0l tisto]
ax* + by? + ¢z = 6°] AHL W, 3a + 2b + ¢ 9] A2 ARRI7?
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~&B ~

x+y+2z=1---@©

2x-y+z=5--Q

O+@: x+z=2=>z7z=2-x

@Ox2-Q: x-y=3=>y=x-3

coax®> +by? +cz2 =6

= ax? + b(x - 3)%2 + ¢(2 - x)?

=(a+b+c)x*— (dc+6b)x +9b+4c =6
= A xy,zol disl Aot H

a+b+c=0, 4c+6b=0, 9b+4c =6

919 Al Aot EH, a=1,b=2, c=-3

L 3a+2b+c=14




